TP1 (Correction)

Exercise 1: Perform the following functions in Matlab:

L f:[0,2a] = R, z + sin(z) + 3 sin(3z) + : sin(5z) + % sin(Tz),

2 f:[-3,3 = R,z {ale -2,

3. f:[107% 7] = R, 2+ Vxsin(l/z).

1. x=pi ;
y = sin(x)+sin(3*x)/3+sin(5*x)/5+sin(7*x)/7

2. X=2 ;
y = (x.~2.*abs(x-2)).~(1/3)

3. X=pi ;
y = sgrt(x).*sin(1./x)
Exercise 2: Perform the following function in Matlab:
f:[-3,3] = R
x— (1 + .i!':If:'_?"j_h""‘*[r:' — (1 + )2 sin(x).

xX=-3;
y=(1+X).*exp(-x.~2+2*x.*c0os(x))-(1+x.4).”2.*sin(x)

Exercise 3: Perform the following function in Matlab:

g(t) = ™ sin(t — 1)% + 23 + T¢.

=2 ;
y=exp(cos(t)).*sin(t-1).~2+2*sqrt(t.~3+7*t)

Exercise 4:
Give MATLAB commands to evaluate the following expressions:

1. logarithime; o (2)

2.

3. —x® —=Z=x 4+ x® 4+ 5, pour x — 1, x

<4
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11. vy « BZ_E :

1) >>10g10(2)
2) >> (1)/(1+(1)/(1+1/2))
3) >>X=1;
>> -XN6-(5/7)*xN3+xN2+5
4 >> x = (1/SQRT(8"3+2))-(2*sin(45)/exp(2))+log(4)
5>>x=exp(3) ;
>> xN3*sin(4*4pi/2)™2/cos(2*pi-1)
6) >> x=-3*i ;
>> -2*|0g(5*X)+SQRT (4*x"3+1)
7) >>R=3;
>> (4/3)*pi*R"N3
8) >> Z= abs(2*n"5-3)/SQRT (4*n"2+log(6*n))
9)>> Z=exp (SQRT(x))/2*y-1+abs(x)-1/(y2+3)
10)>> W= (b/2)*SQRT(c"2-(b/2.5)"2)
11)Y=exp(2-SQRT(b"2-1/a))



